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Section : Mental Ability

Q.1 If there are only 5 people between Arun and Soniya and Arun’s rank is 17th from the
left end and Soniya is 21st from the right end, Also soniya is ahead of Arun. What is
the total strength of the class?

Ans x 1.21
/5 2.35
W 331
K 442

Question ID : 54592776163

Q.2 Find the wrong term in the series?

HEJ, KHM, NKM, QNS, TQV
Ans  of 1 NKM

/X 2.aNs
& 3. Tav
/5 4.HEJ

Question ID : 54592776155

Q.3 Find out the next term.

P80, R9Q, T10S, V11U, ?
Ans  of 1 x12w

< 2. wiaw

5 3.x24W

25 4.x120

Question ID : 54592776156

Q.4 Select the correct option that will fill in the blank and complete the series.

78, 96, 108, 114, ?
Ans 5" 1120

/5 2.125
3117
o 4 114

Question ID : 54592776166

Q.5 In the following question, find the option figure in which the question figure is
embedde.
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Question figure:

Ans

p !

/TN
[

x>

Question ID : 54592776174

Q.6 In this question given below which of the four option figures should come after the
question figures, if the sequence were continued?

Question figure:

3183 0[C

Ans

W 4

Question ID : 54592776170

Q.7 Select the related word pair from the given alternatives.

West Bengal : Bengali :: ?
Ans x 1. Gujarat : Hindi

£5 2. Sikkim : Hindi
« 3. Tripura : Bengali

x 4. Mizoram : Kashi
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Question ID : 54592776159

Q.8 In the question below an unfolded dice is given and four answer choices are given in
the form of complete dice. You are required to select the correct answer choice which
is formed by folding the unfolded dice.

F_

=

@ (ID) I  av)

Ans 3" 4 | Il and Il
25 2. 1land IIl
W 3.1 1, 1lland IV
S 41and Il

Question ID : 54592776173

Q.9 Select the related word from the given alternatives.

BELARUS : MINSK :: IRAN : ?
Ans 3 1 Dublin

J 2. Tehran
x 3. Bissau

/< 4.Baghdad

Question ID : 54592776158

Q.10 How many triangles are there in the following figure?

Ans X 118
o 223
/503.20
75430

Question ID : 54592776172

Q.11 In a certain code, the following language is used:
“Some play like passion” is coded as “kij tpp fpp knc”
“Win requires Passion” is coded as “ktp mno fpp”
“Some play requires skills” is coded as “mno tpp knc bvc”
What does ‘Like’ means in the same coded language?
Ans  of 1 Ki
x 2. Mno
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/5 3.Bvc
x 4. Tpp

Question ID : 54592776160

Q.12 Select the wrong number in the given series.

68, 76, 58, 92, 28, 156

Ans x 1.92
5 2.156
/5 3.76
W 458

Question ID : 54592776167

Q.13 Find the odd one out from the given alternatives.
Ans X" 1 Pleasure

5 2. Joy
75 3. Gaiety
o 4 Murk

Question ID : 54592776157

Q.14 The given series consist of five figures, the first one is unmarked. One of the four
figures (a), (b), (c) and (d) does not fit into the series. Find out the figure.

Question figure:

KK 1K

(3) (b) (© (d)

Ans

oAl maj e

Question ID : 54592776171

Q.15 In a super market vegetables potato, carrot, onions, tomato and brinjal are kept in five
different vertical shelves. Two vegetables are kept between potatoes and carrots.
Carrot is on the top shelf. Brinjal is above onions and tomatoes. Tomatoes are not kept
on the 1st shelf.

Which vegetable is kept just above potatoes?
Ans 3" 1 Brinjal

x 2. Onions
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« 3. Tomatoes

x 4. Carrot

Question ID : 54592776162

Q.16 For the Assertion (A) and Reason (R) given below, choose the correct alternative from
the following:

Assertion (A): India tested nuclear weapons for the first time in 1998.
Reason (R): The test of nuclear bomb was done at Pokhran.

Ans x 1. Both (A) and (R) are true, but (R) is not the correct explanation of (A)
x 2. (A) is true, but (R) is false
x 3. Both (A) and (R) are true and (R) is the correct explanation of (A)

o 4. (A) s false, but (R) s true

Question ID : 54592776165

Q.17 There are 8 people T,R,S,Q,P,N,M and U having discussions around cricket world cup.
From the given information you will have to identify their sitting places around the
table. Two people sit between P and R. N, who is an immediate neighbor of P, is
second to the left of Q. S sits opposite to T, who is second to the right of M and a
neighbor of N.

Who is sitting third to the left of Q?

Ans x1_N
S 2. M
o 3T
K4S

Question ID : 54592776161

Q.18 In the given figure, Which institution is /are represented by the number 2?

IT Kanpur

i
IT Bombay S i

Ans 5" 1. IIT Delhi & IIT Kanpur & IIT Bombay
o 2. 1IT Bombay & IIT Delhi
#% 3.1IT Delhi & IIT Kanpur

< 4.IT Kanpur & IIT Bombay

Question ID : 54592776169

Q.19 Which one of the following figures represents the relationship among Year, Month, and
Seasons?

Ans

S

52
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Question ID : 54592776168

Q.20 In the question below, there are three statements followed by two conclusions. You
have to take the given statements to be true even if they seem to be at variance with
commonly known facts and then decide which of the given conclusion logically
follow(s) from the given statements.

Statements:

Some books are rockets.
All rockets are clips.
Some clips are hard.

Conclusions:

|. Some books are clips.
Il. Some rockets are hard.

Ans x 1. If either conclusion | or Il follows
x 2. If only conclusion Il follows
x 3. If neither conclusion | nor Il follows

J 4. If only conclusion | follows

Question ID : 54592776164

Section : General Awareness

Q.1 Hindi Divas is celebrated on
Ans  of 1 14th Sept

x 2. 14th June

< 3.26th July
75 4.26th Nov

Question ID : 54592776188

Q.2 To be eligible for election as Vice-President, a person should have completed
years of age.

Ans x 1.25
/5 2.30
W 335
5 4.40

Question ID : 54592776191

Q.3 Bitcoin, Ripple, Ethereum etc are examples of which of the following entities?
Ans " 1. Malware

x 2. Units of measurement

x 3. Drugs

J 4. Cryptocurrency

[ 1
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l Question ID : 54592776177 J

Q.4 Which of the following facts about Mahatma Gandhi is not correct?

Ans J 1. He took part in First Round table conference as a representative of INC

X 2. He wrote a literature ‘Young India’
X 3. In 1918, Gandhiji was involved in two campaigns in Gujarat- Ahmedabad and Kheda

x 4. He formed All India anti untouchability league

Question ID : 54592776187

Q.5 State emergency can be declared under which article of Indian Constitution?
Ans  of 1 Article 356

75 2. Aticle 352
x 3. All of the given options

75 4. Article 360

Question ID : 54592776192

Q.6 How many ports are there in India?

Ans & 111
K 2.15
K317
o 412

Question ID : 54592776183

Q.7 Which of the following is not true for surcharge?

Ans J 1. Itis mandatory for the Centre to share it with states
X 2. It goes to Consolidated fund of India
x 3. Itis not earmarked for any specific purpose

X 4. Itis a tax on tax as it is applied on payable tax

Question ID : 54592776178

Q.8 Which of the following embroidery is famous in Lucknow?
Ans X" 1 Kantha

5 2. Zari

o 3. Chikankari

£5 4. Phulkari

Question ID : 54592776175

Q.9 Anup Kumar is associated with which of the following sport?
Ans X" 1. Shooting

X 2. Cricket
x 3. Wrestling
o 4. Kabaddi

Question ID : 54592776194

Q.10 Who holds the record for most Grand Slam men’s singles Championships in Lawn
Tennis?
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Ans " 1. Novak Djokovic
/% 2. Rafael Nadal
J 3. Roger Federer

#% 4. Kei Nishikori

Question ID : 54592776193

Q.11 Which of the following is not an example of thorny vegetation?
Ans x 1. Acacia

X 2. Cactus
J 3. Deodar
/X 4. Paim

Question ID : 54592776182

Q.12 Who was the chief guest of 70th Republic Day of India in 2019?

Ans x 1. France President Emmanuel Macron
( 2. South Africa President Cyril Ramaphosa
X 3. Russian President Vladimir Putin

x 4. Sri Lankan President Maithripala Sirisena

Question ID : 54592776189

Q.13 Which of the following states is the only one in India to have all the three species:
Gharial, Mugger and saltwater crocodile?

Ans x 1. Gujarat
X 2. West Bengal
x 3. Rajasthan

o 4. Odisha

Question ID : 54592776180

Q.14 Which of the following river is not a tributary of Krishna river?
Ans X" 1 Bhima

J 2. Hemavati

X 3. Musi

X 4. Ghatprabha

Question ID : 54592776184

Q.15 Mahayana Buddhism developed during the reign of which of the following Kings?
Ans J 1. Kanishka

X 2. Harsha

x 3. Ajatshatru

5 4. Ashoka

Question ID : 54592776186

Q.16 Which of the following is folk song from Arunanchal Pradesh?
Ans 3" 1 Villu Pattu

75 2. Hekaileu
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x 3. Sohar
J 4. Nyioga

Question ID : 54592776176

Q.17 Which of the following harmful materials are released by e-waste?
Ans  of 1 Mercury and Lead

X 2. Mercury
/5 3. Lead
x 4. Iron

Question ID : 54592776179

Q.18 Which of the following statements is not true for Agenda 21?
Ans x 1. Itis implemented by United Nations

x 2. Itis product of Rio Earth summit
J 3. Itis binding action plan

X 4. It is regarding sustainable development

Question ID : 54592776181

Q.19 Sher Shah Sur defeated which of the following Mughal Emperor?
Ans J 1. Humayun

75 2. Akbar
X 3. Babar

x 4. Aurangzeb

Question ID : 54592776185

Q.20 Turing award is given in which field?
Ans X" 1. Mathematics

( 2. Computing
x 3. Marketing

X 4. Music

Question ID : 54592776190

Section : Arithmetic Ability

Q.1 Pawan walks at a speed of 12km/h. After every km, he takes rest for 12 minutes. How
much time will he take to cover 36 km distance.

Ans & 1 3hrs

x 2.7 hrs 12 minutes

o 3. 10nhrs

25 4.10 hrs 12 minutes

Question ID : 54592776207

Q.2 What should come in place of the question mark (?) in the following question?

1232 x 23 + 65592 = 72
Ans 5" 1 424

https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1//1258019392/1258019392511D842/15728726146339842/1... 9/43




11/11/2019 https://cdn.digialm.com//per/gO1/[)MMMM}UEL%EMS@Q%J&Q&J’IQMM 258019392/1258019392S11D842/15728726....

o 2. 432
25 3412
75 4.362

Question ID : 54592776195

Q.3 Simplify the following expression.

48x4+138
12x7.5+2.5%8

Ans  of 13
K225
K32
5435

Question ID : 54592776196

Q.4 What is the area of the larger segment of a circle formed by a chord of length 5 cm
subtending an angle of 90° at the centre?

Ans
25( 3n
1. —] —+1 2
v 4[2 ]m

a
<3 %[;—1} cm?
K4 ?[34_1) cm?

Question ID : 54592776210

Q.5 If a sum is compounded half yearly at the rate of 7 percent per annum and the
difference of compound interest and simple interest for 1 year is Rs. 98, then what will
be the sum?

Ans X' 1 Rs. 74,000
o 2. Rs. 80,000
#% 3.Rs. 21,000
75 4.Rs. 28,000

Question ID : 54592776206

Q.6 The sum of two numbers is 4 and the reciprocal of one is thrice the reciprocal of
second. What is the ratio of bigger and smaller number respectively?

Ans  of 131
K2.5:2
K322
K 45:3

Question ID : 54592776204

Q.7 Simplify the following expression.
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4 8 (144 7 104
(= xIx=2+718}=2
26 8 12

320 38

Ans X' 1.4
/5 2.05
v
K43

Question ID : 54592776197

Q.8 The percentage profit made when an article is sold for Rs. 56 is thrice as when it is
sold for Rs. 42. The cost price of the article is:

Ans " 1 Rs. 25

75 2.Rs. 28
75 3.Rs. 49
o 4.Rs. 35

Question ID : 54592776203

Q.9 Ajay owns 83.33 percent of a property. Three fourth of the property he has is worth Rs.
5 Lakhs.Find the value of the whole property.(in Lakhs)

Ans J 1.8
5264
5375
5488

Question ID : 54592776201

Q.10 The largest 4-digit number exactly divisible by both of 27 and 81 is:
Ans X" 19980

W 2.9963
/< 3.9654
75 4.9945

Question ID : 54592776198

Q.11 Two years ago the average age of a family of 5 members was 37.4 years.If a child is
born in the family during this period, then the present average age of the family
becomes 33 years. Find the present age of the child.

Ans & 1.5 years
x 2.6 years
W 3. 1year
x 4.2 years

Question ID : 54592776200

Q12 Ifa:b=3:2anda=x+yandb =x -y, the value of x : y is:

Ans  of 151
K219
53.9:1
K445

Question ID : 54592776205
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Q.13 456033 is divisible by which of the following number?

Ans x1,4

7% 2.Both 4 and 8

W33
F N

Question ID : 54592776199

Q.14 If A had worked alone he would have taken 63 hours to do the task. What is B's
share(in Rs.), if A and B work together on a task finishing it in 36 hours and they get
paid Rs 5600 for it?

Ans & 13600

5 2.3400
5 3.2750
W 4. 2400

Question ID : 54592776209

Q.15 Study the following pie chart carefully to answer the question that follow.

Monthly Expenses of a Student

Expenses

W Mess
m Rent
= Mabile
m Books

Student’s Expenses on Books is what percent more/less than his expenditure on rent?
Ans x 1. 5 percent More

X 2. 20 percent More
x 3. 5 percent less

J 4. 20 percent less

Question ID : 54592776213

Q.16 Study the following graph carefully to answer the question that follow.

Runs scored by Indian batsmen in three matches of a series
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m Match 1

B Match 2
m Match 3

Rahit Vira Dhawan Shreyas

Rohit’s score in Match 3 is what percent less than Virat’s score in the same match ?
Ans & 1.20%

5 2.80%
V583 2%

X 4 161%
K4 165

Question ID : 54592776214

Q.17 In a test, the passing percentage was 35 percent. A student, who wrote it got 230
marks and failed by 15 marks. Find the maximum mark in the test.

Ans 3" 1630
5 2.770
o 3.700
75 4.840

Question ID : 54592776202

Q.18 What is the area of a circle whose circumference is 88 cm?
Ans X" 1928 cm?

W 2.616 cm?
< 3.430 cm?
£ 4.732cm?

Question ID : 54592776211

Q.19 A train 280 meters long is moving at a speed of 60 km/hr. The time taken by the train to
cross a platform 220 meters long is:

Ans " 135 second
x 2. 25 second
X 3. 20 second
J 4. 30 second

Question ID : 54592776208

Q.20 What will be the area of the square whose diagonal length is 5V2 cm.
Ans  of 1 25cm?

5 2.10 cm?
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Question ID : 54592776212

Section : General English

Q.1 Identify the incorrect sentence or sentences.

a. Subscribers offer publishers many benefits.

b. Most obvious is consistent stream of cash.

c. They enable a newspaper having a more predictable and a more efficient
distribution system.

d. They also are the data for the advertising sales force.

Ans X" 1 aandb

#5 2.0nly d
( 3.bandc
Z5 4.0nly b

Question ID : 54592776216

Q.2 What is the meaning of the idiomatic expression ‘Between the devil and the deep blue
sea’?

Ans J 1. Having only two very unpleasant choices
x 2. Having nightmares
x 3. Having dreams

x 4. Having only two very pleasant choices

Question ID : 54592776228

Q.3 Out of the four words given below, find the word which is an antonym of ‘Mammoth’.
Ans X 1 Large

o 2. Tiny
75 3. Giant
< 4. Animal

Question ID : 54592776223

Q.4 What is the meaning of the idiomatic expression ‘Goes without saying’?

Ans x 1. It should be considered impossible
x 2. Itis beyond common understanding
x 3. Itis paid for the extra hours you work

J 4. It should be generally understood or accepted

Question ID : 54592776227

Q.5 Select the most appropriate option to fill in the blank.

| was terribly disappointed that they didn't let take it into the hospital with me.

Ans x1_we
K20
5 3.us
o 4 me

( 1
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l Question ID : 54592776220 J

Q.6 What is the meaning of the suffix ‘acy’ in the word ‘Democracy’?

Ans x 1. Having the quality of

x 2. Make or Become

« 3. Rule

#5 4. Condition

Question ID : 54592776226

Q.7 Rearrange the following sentences in their correct order to form a meaningful
paragraph.

1. In the following question, there are six parts marked S1, S6, P, Q, R and S. The
position of S1 and S6 is fixed. Some parts of the sentence have been jumbled up.
Rearrange these parts and choose the proper sequence from the given options.

S1. A Swami Narayan sect priest has been attacked by two unidentified miscreants in
a village.

P. The incident took place on Thursday night in a town called Raipur.

Q. The priest has been identified as Bhakti Prasad Swami.

R. After the attack, the miscreants left their car and fled.

S. When Bhakti was coming from a BJP election meeting, the assailants overtook his
car and smashed the car’s windshield and hit him with iron rods.

S$6. The priest has been admitted to a hospital and a police complaint lodged.

Ans & 1 PQSR

W 2. aPsR
/5 3.QPRS

/5 4.PQRS

Question ID : 54592776222

Q.8 Select the most appropriate option to fill in the blank.

The students were polite and went easy on the coach who was earlier this
season.

Ans " 1 sacks

x 2. sacking
«. 3. sacked
x 4. sack

Question ID : 54592776219

Q.9 Out of the four words given below, find the word which is a synonym of ‘Abandon’.
Ans  of 1 Leave

x 2. Migrate
x 3. Accept
x 4. Agree

Question ID : 54592776224

Q.10 Out of the four words given below, find the word which is not correctly spelt.
Ans X" 1 Privilege

x 2. Mischievous
25 3. Millennium

« 4. Miscellanious

Question ID : 54592776225
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Q.11 Out of the four sentences given below, find the sentence which is grammatically
correct?

Ans x 1. Each boy and each teacher is required to bring their luggage
x 2. Each boy and each teacher are required to bring their luggage
( 3. Each boy and each teacher is required to bring his/her luggage

x 4. Each boy and each teacher are required to bring his luggage

Question ID : 54592776215

Q.12 Find the word which can be replaced for the given sentence:

One who does a thing for pleasure and not as a profession.
Ans ( 1. Amateur

x 2. Professional

x 3. Unprofessional

x 4. Expert

Question ID : 54592776229

Q.13 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select option No substitution required.

Diet is among lifestyle changes urgently needed if developed nations are to has hope
of meeting targets for reduced carbon emissions

Ans x 1. No substitution required
x 2. are to has the hope
x 3. are wanting to hope

J 4. are to have a hope

Question ID : 54592776218

Q.14 Rearrange the following sentences in their correct order to form a meaningful
paragraph.

A. use the internet for accessing banking

B. A majority of Indians prefer to

C. than shopping online, shows a new survey
D. and other financial services

Ans " 1.BACD

/< 2. ADBC

W 3.BADC

/% 4.BDAC

Question ID : 54592776221

Q.15 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select option No substitution required.

They wanted to see what Mr. Kennedy would choose, when faced with a choice either
commerce and conservation.

Ans ( 1. between

x 2. among
25 3. with

x 4. No substitution required

Question ID : 54592776217
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Comprehension:
Read the following passage carefully and answer the questions given below them.

The Rig Veda, which is the oldest work of the Aryans, gives a picture of an ancient civilisation,
and explains how the mind of man, in its infancy, worships what is bright and glorious in
nature, what is powerful and striking. Among some nations, religion began with the fear of
diseases and evil but, among the Aryans, with the adoration of the glorious and powerful
objects of nature, It, of course, also shows how the mind is led from nature up to nature’s
God, all natural phenomena being the action of the Unknowable One. It was the work of the
rishis, who later passed from nature to nature’s God. Vedic Dyu is simply the sky (literally
meaning the shining); Dahana and Ahana, the dawn; Varuna (meaning to cover) is again the
sky; Pramatha is fire produced by friction. The Vishnu of the Rig Veda is not the Vishnu, the
preserver, but only the Sun God, far below Indra or Varuna, Savitri or Agni. It simply denotes
the sun at its rise, its zenith and its setting. The Rudra of the Rig Veda is not the supreme
destroyer but the thunder or thunder cloud. The Brahma of the Rig Veda is not the supreme
creator but only prayer or god of prayer. There is no mention of the idols in the Rig Veda,
none of the temples or places of worship where the people were to congregate. Every father
of a family was his own priest and his home was his temple.

SubQuestion No : 16
Q.16 Which of the following statements is not true in the context of the passage?

Ans x 1. Varuna, Savitri, Agni, Ahana and Dahan were known to the rishis
K 2. Dyu in the Vedas was the name of the sky
x 3. The thunder was known as Rudra

( 4. In Rig Veda, Vishnu was known as the preserver

Question ID : 54592776234

Comprehension:
Read the following passage carefully and answer the questions given below them.

The Rig Veda, which is the oldest work of the Aryans, gives a picture of an ancient civilisation,
and explains how the mind of man, in its infancy, worships what is bright and glorious in
nature, what is powerful and striking. Among some nations, religion began with the fear of
diseases and evil but, among the Aryans, with the adoration of the glorious and powerful
objects of nature, It, of course, also shows how the mind is led from nature up to nature’s
God, all natural phenomena being the action of the Unknowable One. It was the work of the
rishis, who later passed from nature to nature’s God. Vedic Dyu is simply the sky (literally
meaning the shining); Dahana and Ahana, the dawn; Varuna (meaning to cover) is again the
sky; Pramatha is fire produced by friction. The Vishnu of the Rig Veda is not the Vishnu, the
preserver, but only the Sun God, far below Indra or Varuna, Savitri or Agni. It simply denotes
the sun at its rise, its zenith and its setting. The Rudra of the Rig Veda is not the supreme
destroyer but the thunder or thunder cloud. The Brahma of the Rig Veda is not the supreme
creator but only prayer or god of prayer. There is no mention of the idols in the Rig Veda,
none of the temples or places of worship where the people were to congregate. Every father
of a family was his own priest and his home was his temple.

SubQuestion No : 17
Q.17 ‘Pramatha’ of the Vedas is:

Ans x 1. Dawn

5 2. sky
x 3. Thunder
of 4 Fire

Question ID : 54592776232

Comprehension:
Read the following passage carefully and answer the questions given below them.

The Rig Veda, which is the oldest work of the Aryans, gives a picture of an ancient civilisation,
and explains how the mind of man, in its infancy, worships what is bright and glorious in
nature, what is powerful and striking. Among some nations, religion began with the fear of
diseases and evil but, among the Aryans, with the adoration of the glorious and powerful
objects of nature, It, of course, also shows how the mind is led from nature up to nature’s
God, all natural phenomena being the action of the Unknowable One. It was the work of the
rishis, who later passed from nature to nature’s God. Vedic Dyu is simply the sky (literally
meaning the shining); Dahana and Ahana, the dawn; Varuna (meaning to cover) is again the
sky; Pramatha is fire produced by friction. The Vishnu of the Rig Veda is not the Vishnu, the
preserver, but only the Sun God, far below Indra or Varuna, Savitri or Agni. It simply denotes
the sun at its rise, its zenith and its setting. The Rudra of the Rig Veda is not the supreme
destroyer but the thunder or thunder cloud. The Brahma of the Rig Veda is not the supreme
creator but only prayer or god of prayer. There is no mention of the idols in the Rig Veda,
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none of the temples or places of worship where the people were to congregate. Every father
of a family was his own priest and his home was his temple.

SubQuestion No : 18

Q.18 Which of the following is a pair of names expressing two different aspects of the same
deity?

Ans \, 1. Vishnu and Sun God
x 2. Brahma and Rudra
x 3. Indra and Varuna

K 4. Savitri and Agni

Question ID : 54592776235

Comprehension:
Read the following passage carefully and answer the questions given below them.

The Rig Veda, which is the oldest work of the Aryans, gives a picture of an ancient civilisation,
and explains how the mind of man, in its infancy, worships what is bright and glorious in
nature, what is powerful and striking. Among some nations, religion began with the fear of
diseases and evil but, among the Aryans, with the adoration of the glorious and powerful
objects of nature, It, of course, also shows how the mind is led from nature up to nature’s
God, all natural phenomena being the action of the Unknowable One. It was the work of the
rishis, who later passed from nature to nature’s God. Vedic Dyu is simply the sky (literally
meaning the shining); Dahana and Ahana, the dawn; Varuna (meaning to cover) is again the
sky; Pramatha is fire produced by friction. The Vishnu of the Rig Veda is not the Vishnu, the
preserver, but only the Sun God, far below Indra or Varuna, Savitri or Agni. It simply denotes
the sun at its rise, its zenith and its setting. The Rudra of the Rig Veda is not the supreme
destroyer but the thunder or thunder cloud. The Brahma of the Rig Veda is not the supreme
creator but only prayer or god of prayer. There is no mention of the idols in the Rig Veda,
none of the temples or places of worship where the people were to congregate. Every father
of a family was his own priest and his home was his temple.

SubQuestion No : 19
Q.19 What is the basis for saying that there were no places of worship in Rig Vedic times?

Ans x 1. Vedic Aryans were worshippers of nature
x 2. People did not worship any gods in Vedic times
x 3. The Rig Veda talks of idols.

J 4. There is no mention of any place of worship in the Rig Veda

Question ID : 54592776233

Comprehension:
Read the following passage carefully and answer the questions given below them.

The Rig Veda, which is the oldest work of the Aryans, gives a picture of an ancient civilisation,
and explains how the mind of man, in its infancy, worships what is bright and glorious in
nature, what is powerful and striking. Among some nations, religion began with the fear of
diseases and evil but, among the Aryans, with the adoration of the glorious and powerful
objects of nature, It, of course, also shows how the mind is led from nature up to nature’s
God, all natural phenomena being the action of the Unknowable One. It was the work of the
rishis, who later passed from nature to nature’s God. Vedic Dyu is simply the sky (literally
meaning the shining); Dahana and Ahana, the dawn; Varuna (meaning to cover) is again the
sky; Pramatha is fire produced by friction. The Vishnu of the Rig Veda is not the Vishnu, the
preserver, but only the Sun God, far below Indra or Varuna, Savitri or Agni. It simply denotes
the sun at its rise, its zenith and its setting. The Rudra of the Rig Veda is not the supreme
destroyer but the thunder or thunder cloud. The Brahma of the Rig Veda is not the supreme
creator but only prayer or god of prayer. There is no mention of the idols in the Rig Veda,
none of the temples or places of worship where the people were to congregate. Every father
of a family was his own priest and his home was his temple.

SubQuestion No : 20

Q.20 According to the passage, who among Vishnu, Varuna, Savitri, Indra and Agni is
considered least important In the Rig Veda?

Ans x 1. Indra

x 2. Varuna
x 3. Savitri
o 4. Vishnu

[ |
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l Question ID : 54592776231 J |

Section : General Hindi
Q1 fu e fawedl A | BT THaE 22
Ans 1 flrre

5 2. s it

W 3. ds

25 4. gEY S

Question ID : 54592776244

Q.2 I UHR HT T4 BT
T W d1d WY, G I8 BT RN HAT 8|
Ans X 1 Hgad aTR
5 2. Fyaras ae
5 3. WA g
4 g a

Question ID : 54592776245

Q.3 yeraw 54 faal # aa T8 &1 3 3-
Ans " 1. 3G fd ST
o 2. [ ey B airem A R
X 3T - YR FHR A
7 4. Trom & faeg o

Question ID : 54592776247

Q.4 oy e et & A frw arew & favm-Rregl 1 wrera wai fasam wan @2
Ans X" 1 T TS grar, g, gaTq SR e d 3|

7< 2. RITFIR FR-IER Hedwd 64

75 3. 98 3FARA (@AR) HT Hell 6l 31

o 4. v sme R B gt Ra

Question ID : 54592776250

Q5 ‘IrePYaT § PI49-H U 82
Ans X 1. fm g

X 2.5 9™

W 3. gt T

25 4. qQEY gUY

Question ID : 54592776237

Q.6 padi B fadm T 8-
Ans  of 1 AR

25 2. 3FTd

& 3.9
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F R el

[ Question ID : 54592776239 ]

Q7 FREE ST qaigaTE A -
Ans x 1, 7R

25 2. ad

K 3. fea

W 4 R

Question ID : 54592776240

Q.8 g YHR $T 997 SR
weo! foe I B 1
Ans  of 1 Sdar
5 2. sfpqara
25 3. v
< 4. FHIA

Question ID : 54592776243

Q.9 PR el ¢/ dal Wd, 981 ¢ AR} I &7 3 2-
Ans o 1 T B BIE I FAT

75 2. TR

X 3. il e gsal i ¢

5 4. B AN BT Ig-TgHR el

Question ID : 54592776249

Q.10 3reg-g F Wt 3rdf-Ng F1 79 P
‘m-m’
Ans x 1. Ag-due
X 2. Idiue
W 3. duw-3er
25 4 e

Question ID : 54592776242

Q.1 Frafaf@a § @ sH-a1, agd I 82
Ans  of 1 Ty

X 2@

p R

75 4. e

Question ID : 54592776238

Q.12 mggmmmm, THPI-AE T ATeh-aa W 9T & AW & q1¢ [
AT 82

Ans x1(fﬁqﬁ[:g
/X 2. fwmafesivs fag
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W 3. 3o fajmm fee
< 4. offerm g

Question ID : 54592776248

Q.13 f3u TTT 9199 & oY U@ Weg T 49 BT
it avg a1 919 & fawg # 99 91 yaa s
Ans X 1. gHTR
X 2. e
X 3. f
o 4. R

Question ID : 54592776241

Q.14 GfRIT Meg FT 997 B
Ans  of 1 G

P ARG
/< 3. foamae
/5 4. 9T

Question ID : 54592776246

Q.15 yaffeRy & St |@fy 32
Ans & 1 gurEfy

25 2. srrfe Oy

25 3. fawfafy

of 2 el

Question ID : 54592776236

Comprehension:

U 1T eI BT SIS S1EHT PR URAT BT IR Ao |

W YRA ST HRA TRPR GRT SR 501 711 IS TR $1 I § forgeT Ig=a Tiferd],
TS| YT SHURRET BT WB-JURT PIAT 3R Fel b G 8| TG A 02 TR, 2014 B
SR fopa T | T HeTem Tiieh < & bl el Y o R, W] @S YR BT BT
T ORT T g3 | FRTAHT et 3 3 S9Nl ! ¥Waasdl a1 9 Aaeft Rref v 3R
mmmﬁmw

FUY 1 3 1999 ¥ LF, YR IRPHR A SATIH UTHIUT Weddl HRIHH BT GRS
faran 3R qul e i (Creerit) = fobar et a1e 7 (1 310id 2012 1) T
TR g gR1 e yRd i (weeie) AW o | W YRd IR & U T 24
RdeR 2014 B Hh diea 31 Hod ¥ A YR Sifvam &1 gt o mar o
Tada URa ST (1999 F 2012 T Yuf Weadr M, a1 gl YR IREHR GRI YE Bt
T GGG $1 3AATS aTel Ul el (Headivy) & Rigidl & dgd U6 Sried o7l 39 fufy &1
BIRIe = aTel idl Y e U REBR TS HRIHH P dgd Hiigd RER 3R I YAR
T g

SubQuestion No : 16
Q.16 IRIad TN BT I Ml -
Ans  of 1 WS URd aftEE

25 2. FRT TR 1 o feaw
X 3. sifgan feaw
25 4. qf W= st

Question ID : 54592776252
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Comprehension:

e TTQ TR BT YD ST P U= BT SR o

W YR ST HRA TRBR GRT SR 501 711 IS TR BT IR § orgeT Ig=a wiferd],
TSP! qUT SRR P HTh-FURT HAT 3R HeT W TG ¢ | I8 ST 02 SR, 2014 B
SRY fobgT T | AP HETHT Tt 3 <=1 Y [efH] | Hefd BRI, TR 68 HRA' BT 3]
T QRT T g3 | FHGTHT et 3 37U SIury & NNl ! Wesdl a1 9 Aaeft Rref v 3R

DI TS IPP Hax faam ot

FUY 1 30T 1999 ¥ LF, YR TRPR A SATIH UTHIUT Wb dl BRIHH BT GRS

fora 3R quf s siftrm (Sl SR= frar foraent are & (1 38id 2012 &) T
T Rig gR1 e URa i (wAet) A o 7| W URd SifaH & ¥ U § 24
RrdeR 2014 & Feff dfrea 31 v ¥ A YR Siftam &1 g o ma
Tfa URa s (1999 F 2012 I Yot Wwwzdr M, a1 Seasd) YR IRER gRT LE Bt
TS GHer B SaTE areht quf Tl (vardied) & Rigidl & ded Us SrimH ol 39 Rl &1
REEEZSEISRICIE I GRIHR ATHS HRIHH & dgd Hiisd REBR 3R I TR
7T gl

SubQuestion No : 17
Iua e & W A Tsc FT QUi FU §:
5 1. e Ty A

o 2. i AR Fue
7% 3. iea ofdg &
25 4.8 i IR

Question ID : 54592776256

Q.18
Ans

Comprehension:

3T T TTRIRT BT AFYED ST PR YAl BT IR GO |

W HRA ST HRA R RT SRH {1 77 AP TR BT 1M § forepT Ie=a i,
TIH! T ST P ATH-JURT FRAT 3R FHeT Wt @1 ¢ | T8 I 02 IR, 2014 Hi
SR T T | AT HeTeT T < <=1 Pl o ¥ Yo R, R @S HRA BT BT
AT URT 51 g3 | HRTAT et U AU & ANl b Wasdl a1 9 Aaeft Rref vem 3

DI TP IPY Hex fear ol
jrﬁﬁm%w?m 3T 1999 V TR, YRA IHR = AT ATHIV Il HRIDHH BT G5
fopa 3R quf Tawadr Siftr (Sl R= o formae are & (1 38id 2012 &) HumH
THIe Rig gR1 fda wRa sifiam (gHeie) A fear mar| W yRd i & S U | 24
RydaR 2014 B Heila dRHsa &1 oot I ffa yRa i &1 gafa fasan mar o)
e YR T (1999 § 2012 T YUT WeadT g, a1 ATERlh) YR IRBR §RI YE &
T e B ST aTeh quf Tl (uaeied) & Rigidl & dgd U SRS il 39 Ry &1
BIRIE A aTal TTidl Y e U REBR S HRIHH & dgd Hiisd RER 3R I YAR
T g3l

SubQuestion No : 18
WD YRA RO, R IRPR gRT H9 ARY 531 14 412
25 1.1 30, 2012

of 2. 02 3R, 2014
75 3. 24 RydeR, 2014

75 4.2 3R, 2019

Question ID : 54592776254
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Comprehension:

foQ 7Y TR BT SHYdE 31eqTT BR YAl BT IR ST |

W YRA ST HRA TRBR GRT SR 501 11 IP1a TR $1 I § et Ig=a Tiferd],
TS| YT SHURRE BT HH-JURT BT AR Fel b G 8 | T A 02 3GEER, 2014 B
SR fopa T | U HeTen T < & bl e ¥ Yo HRE1, R @S YR BT BT
T GRT T g3 | FGTAT et 3 U S9Nl ! XWasdl a1 9 Aaeft Rref v 3R

DI TP IPP Hax faam ot

U 1 U 1999 ¥ YRF, YR WHR = ATISH AT W3l HRIHH BT TR

forar 3R ol = siftr (o) YRs frar foraent a1e & (1 30id 2012 &) TurHR
AR g gR1 e URd i (wasie) AW oo | W YRa IR & U T 24
RdeR 2014 & Hk direa 31 o ¥ A YR S &1 gt o mar o
Tda URa ST (1999 F 2012 T Yuf Wwadr SHfAM, a1 Suawd) YR ISR gRI YE Bt
TS Y™ S 3FATS aTel guf s dl (ATeadivd) & Rigidl & ded U Srisd uTl 39 R &)
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BIRIA HxA a1l 7Tl 1 T U GRBR A FHRIHH & dgd Hifsd GREHR 3R I TR
T gaTl

SubQuestion No : 19

Q.19 IWIF TR F HTHR WS HRA SHHIAH F ¥ § 24 Rydaw 2014 9 Hia whvsa ot
Hedt ¥ fore gier &1 e faar war ur?

Ans  off 1 fE URT it
5 2. @ YR e
25 3. feia g e st
25 4.ty e gRam e

Question ID : 54592776253

Comprehension:

3T T T[T BT ATFYED ST PR URAT BT IR GO |

W HRA ST HRT IR GRT SRH 1 T7 AP TR H1 1M § et Ie=a i,
TSB! qUT SRR B ATH-FURT HAT 3R FT A IS 8| T8 S 02 SagaR, 2014 BHI
SR T T | AT HeTe Wi < 1 Bl o ¥ Yo R, R @S HRA BT AT
YT O 16T g7 | TTeT et = 30 SYuT & AT bl el §-TY Xa- daeht fRref v R
m:{@gm%mw

FUY 1 30T 1999 ¥ LF, YR WRBR A ATIS A0 Tawddl HIIHH BT G164
fopa 3R quf Taadr Siftr (Cluadt) R= o formae are & (1 38id 2012 &) HumH
TR g gR1 e YRd i (geeie) A fean man| W YRa S & 4 H 24
RydaR 2014 B Hila dRHsa &1 oot I ffa yRa i &1 gafa fasan mar o)
e YR AT (1999 § 2012 T YUf WeadT g, a1 SUERih) YR IRGR gRT YE &
T e B ST aTeht quf Tl (Uaeied) & Rigidl & dgd U SriHH Uil 39 Ry &1
BIRIe A aral TMidl Y e U REBR G HRIHH & dgd Hiisd RER 3R I= YAR
T g3l

SubQuestion No : 20

Q.20 IWIE TR F AR HRPINSG FY F, YRA WPR 7 ATGP ATHI0T W51 HRAHH
HT Y6 $9 9 R fpar 412

Ans &X' 1.2 3ETER, 2014
o 2. 1309, 1999

25 3. 24 RydeR, 2014
5 4.2 TR, 2019

Question ID : 54592776255

Section : Discipline1

Q1 The relative permittivity is the least among the following for:

Ans (" 1. paper
< 2 Air
< 3. Glass
+ 4. vacuum

Question ID : 54592776257

Q.2  Athree phase 415V, 20KW motor draw line current of 30A. What will be the phase current if the winding is delta
connected.

Ans X 1. 48.2A
v 2 22.6A
< 3 30A
X 4 13A

(
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l Question ID : 54592776259 J

Q.3  Aring shaped coil with fixed number of turns, is carrying a current of certain magnitude. If an iron core is threaded into
the coil without any change in coil dimensions, the magnetic induction density will:
Ans 1. Remains same

/< 2. Unpredictable

\f 3. Increase
75 4. Decrease

Question ID : 54592776264

. , =i ~ .
In spherical coordinate, we have [ el (1 e COSG?’)a r, the charge density is

Ans
126
v — sinér
Tr

46
Tre
& 3. zero
a

~ 4 —5 sinér
nr

52

Question ID : 54592776268

as 5 . . 5
Given 4 =xz a, —|—y2 a, +xza; then |V X Al at the point (0,1,2) is:

Ans X 1. 4
X202
3 141
< 4 1.60

Question ID : 54592776272

Q.6  Race around condition oceurs in:

Ans ¢ 1. Multiplexer
X 2. ROM
/< 3. Voltage regulator
« 4. Flip-Flops

Question ID : 54592776269

Q.7  Acircuit consists of 12002 resistor in parallel with a 40pF capacitor having 800 capacitive reactance. The current is:
Ans X 1. No current will flow
« 2 Capacitive in nature
#< 3. Inductive in nature

75 4. Resistive in nature

Question ID : 54592776260

Q.8 AFull wave controlled converter is supplied by a 3-¢ transformer. The load is induetive in nature and rating of load is
Vo = 500 de, power = 10KW. If the firing angle of converter is 30 degree, then the rating of the transformer is
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Ans  of 1. 12.09 kVA
X< 212,11 kVA
X3 12.10kVA
X4 12.12kVA

Question ID : 54592776265

Q.9 The potential difference across and cuurent in a circuit are represented by ( 100+j200)V and ( 10+j5)A. The active power
will be:

Ans X 1. 100W
< 2 20W
< 3. 200W
W 4 2000W

Question ID : 54592776261

Q10 Which of the following is a Vector quantity?
Ans X 1. Susceptibility.

7< 2. Magnetic Potential.

' 3. Magnetic field intensity.

7< 4. Magnetic flux density.

Question ID : 54592776262

Q11 By using only n number of NOR gates, the AND function can be realized. Thenn = ?

Ans (1_

XX
(SIS
h o b W

Question ID : 54592776273

Q12 The magnetic reluctance of a magnetic circuit decreases with the:

Ans X 1. Decrease in cross-sectional area

52

Decrease in relative permeability of the magnetic material of the circuit

+ 3. Increase in cross-sectional area
7< 4. Increase in length of magnetic path

Question ID : 54592776263

Q.13 n a synchronous generator, at what value of 6 (in degree) maximum power is generated.

Ans X 1. 60
X2 45
V'3 90

& 4. zero

Question ID : 54592776274
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Q.14 On performing load test on 3-¢ induction motor by two-wattmeter method . 16KW and -4kW are the reading obtained
from two-wattmeter method and the line voltage is 400V.The line current is

Ans  of 1. 53A
< 2 76A
< 3 65A
< 4 50A

Question ID : 54592776271

Q.15 The state transition matrix of a control system is given by,
el
[Ae R c zf—st] (where A, B and C are constants). The maximum value of A+B+C is ?

Question ID : 54592776266

Q.16 A coil having a resistance of 602 and an inductance of 0.03H. is connected across a 50V. 60Hz supply. The current will
be

Ans X 1. 4.9A
W 2 39A
X3 45A
<4 3A

Question ID : 54592776258

Q.17 When a source is delivering maximum power to a load . the efficiency of the circuit is always:
Ans  of 1. 50%

/< 2. depends on circuit parameters.

X 3. 100%

X 4 75%

Question ID : 54592776270

Q.18 The developed torque depends upon which factor in an electromechanical energy conversion devices?

Ans ¢ 1. stator field and rotor field strengths
« 2. torque angle and the stator and rotor field strength
/< 3. torque angle and stator field strength
/< 4. stator field strength only

Question ID : 54592776267

Q.19 A Transformer has its maximum efficiency of 0.97 at SOKVA at upf. During the day it is loaded as follows:
12 hours: 2kW at pf 0.75 lag
6 hours: 10 kW at pf 0.8 lag
6 hours: 15SKW at pf 0.9 lag
Considering constant iron loss = 100W.
'All day efficiency of the transformer ' in percent will be

Ans X 1. 06.80%
W 2. 98.9%
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< 3. 96.77%
< 4.96.30%
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Question ID : 54592776275

Ans

Q20 1p a closed loop control system:

« . control action depends on output.
/< 2. no feedback is employed
/< 3. output is independent by the control action.

/< 4. output is independent by the effect of input.

Question ID : 54592776276

Section : Discipline2

Ans

Q.1 Two conducting spherical shells have radii of a = 3cm and b = Scm. The interior is perfect dielectric for which £r=7.
The capacitance C is

< 1. 36.50 pF
v 2 584 pF
/< 3. 37.08 pF
/< 4. 49 pF

Question ID : 54592776280

Ans

Q.2 A 3-g. salient pole synchronous generator is delivering a power of 1p.u to an infinite bus at rated voltage and 0.7pf
lagging .The generator has X d =0.8 and X q = 0.4. The power angle of the generator will be degree.

X 12491
X2 328
K530

v 4 1579

Question ID : 54592776282

Q3 In a given system, the damping coefficient is -4. The system response will be:

Ans

75 1. Un damped

/< 2. Oscillation with decreasing magnitude
7% 3. Critically damped

+ 4 Oscillation with increasing magnitude

Question ID : 54592776284

Q4

Compensator transfer function is given by,

Ans

35+9
S+6

~< 1 26°
X 2 18.45°
X3 159°

The maximum phase lead in degree is
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v 4 10.47°

Question ID : 54592776278

Ans

Q5 The errors introduced by an instrument fall in category

/< 1. Environmental error
7% 2. Gross error
« 3. Systematic error

/< 4 Random error

Question ID : 54592776294

Q.6

Ans

Divergence of a vector is

< 1. zero

/< 2. constant
#< 3. vector
W 4 scalar

Question ID : 54592776296

Q7 Superposition theorem is not applicable for:

Ans 2 1. bilateral elements
« 2. power calculation
7% 3. passive elements
7< 4. voltage calculation
Question ID : 54592776286
Q8 n type -2 system, ramp input is applied, the steady state error is:
Ans  of 1 zero
/< 2. infinity
/< 3. Negative constant
#< 4. Positive constant
Question ID : 54592776295
Q9 The Gauss law is applicable for which of the following :
Ans

/< 1. dynamic field
v 2. static field
/< 3. time varying as well as static field

7% 4. time invariant as well as static field

Question ID : 54592776291

Ans

Q10 Operational amplifier has virtual ground property which indicates that,

/< 1. system is at rest
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52

inverting and non inverting terminals are connected to ground

Vs

inverting and non inverting terminals are at the same potential

/< 4. any one terminal is connected to ground.

Question ID : 54592776281

Q.11 Which one of the following decides the time of response of an indicating instrument?

Ans 1. Jewel and Pivot bearing
/< 2. Deflecting system
+ 3. Damping system
/< 4. Controlling system
Question ID : 54592776279
Q12 Skewing is done in part of induction motor.

Ans X' 1. stator
7< 2. conductor

75 3. pole shoe

« 4 rotor bar

Question ID : 54592776283

Q13 A divide-by 6 counter is obtained by using:

Ans 1. 6-bit ring counter
« 2. 6-bit ripple counter
7< 3. 3-bit ripple counter

/< 4. 3-bit twisted -ring counter

Question ID : 54592776292

Q.14 The total reactive power demand by inductor is completely supplied by capacitor in the given circuit at a frequency x 108
rad/sec.

15‘“"@ =100

Ans X 1. 27
<2 15
V3 22
<4 18

Question ID : 54592776290

Q.15 the given input . Final value theorem is not applicable for the system.

Ans 1. parabolic

https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1//1258019392/1258019392S511D842/15728726146339842/... 29/43



11/11/2019 https://cdn.digialm.com//per/gO1/WMMM}UEL%EMS@@%‘J&Q&J’IQMM 258019392/1258019392811D842/15728726...
/< 2. ramp

« 3. exponential

75 4. step

Question ID : 54592776288

Q.16 In the figure shown below, the voltage across the resistance 102 is to be measured by a voltmeter of range (0-50) V
having sensitivity 20KV, The reading of the voltmeter is V.

my 00 (,)

Ans X 1. 94V

Question ID : 54592776285

Q.17 For Maxwell's inductance- capacitance bridge, which is used to measure an unknown inductance in comparison with
capacitance. The various values at balance,
R2 = 5000, R3 = 6000, R4 = 120002, C4 =0.3uF.
The value of storage (Q factor of coil), if frequency is 500Hz is

Ans X 1. 2.17
v 2 18]
< 3. Zero
X4 1.13

[ Question ID : 54592776293 ]

Q.18 Asingle phase circuit is used for power measurement by electrodynamometer . The load voltage is 100V and load
current is 10A at a lagging power factor of 0.8. The wattmeter voltage circuit has inductance of 30mH and resistance of
100042. So when the pressure coil is connected is connected on the supply side, the percentage emor in power in
wattmeter reading is

Ans  of 1. 5.96
< 2 5.69
< 3 525
X456

Question ID : 54592776289

Q19 Traction is done in case of dc series motor because:

Ans 11_

torque is proportional to armature current and speed is inversely proportional to torque

52

torque is proportional to the square of armature current and speed is inversely proportional to torque

53

both torque and speed are proportional to the square of armature current

r

torque is proportional to the square of armarture current and speed is directly proportional to torque

Question ID : 54592776277

Q.20
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A 4-pole, 50Hz. 3-p induction motor mnning on full load develops a useful torque of 180Nm at a rotor frequency of 1.5
Hz. The shaft power output is

Ans X 1. 46 kW
X 2 30 kW
X3 23 kW
W 4 27KkW

Question ID : 54592776287

Section : Discipline3

Q.1 Consider the circuit shown in the figure. Assume base-to- emitter voltage 1, = 0.8 v and common base current gain
(«) of the transistor is unity.

H8V
40 fite!
16k %0

The value of the collector- to — emitter voltage Vg (in volt) is

Ans jq_ 6.0
<27
X3 6.5
X455

Question ID : 54592776312

Q.2 Foran-channel JFET. the pinch off voltage 17, is -4 V. Vpp is 10 V and the drain saturation current at zero gate bias Inp
is 2 mA. The value of the saturated drain current for a gate voltage of -2 V is:

Ans X1 0.5 mA
X2 45mA
v 3 18 mA
X4 2mA

Question ID : 54592776314

Q.3 When the gate to source voltage (¥;) of a MOSFET with threshold voltage of 400 mV, working in saturation is 900 mV,
the drain current is observed to be | mA. Neglecting the channel width modulation and assuming that the MOSFET
is operating at saturation, the drain current for an applied v;, of 1400 mV is:

Ans 1. 3.5 mA
X 2 0.5mA
X 3 2.0mA
v 4 4.0mA

Question ID : 54592776315

Q.4 A Series resonant circuit has bandwidth of 20KHz and resonance frequency of 1.5MHz. The value of resistance R if C = 120 pF?

Ans X1 1120
X2120
X3140
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v411.7Q

Question ID : 54592776299

Q5 pair of active transducers is:

Ans X" 1. Thermistor . Solar cell
< 2. Solarcell , IVDT
/< 3. Thermocouple , Thermistor

« 4 Thermocouple, Solar cell

Question ID : 54592776300

Q.6  For determination of voltage regulation of an alternator, which one of the methods give more accurate result?
Ans 3¢ 1. Synchronous impedence method

/< 2. MMF method

#< 3. American institution Standard method

« ¢ Potier triangle method

Question ID : 54592776297

Q.7 10
As the system is used as an oscillator, a time-invariant control system is given by 53+105% +55+K
the oscillator frequency in rad / sec is

Ans x1_ 3
< 2. 1.28
V'3 228
X436

Question ID : 54592776302

Q8 tWhich bridge is used to determine frequency?
Ans  of 1. Wien bridge

/< 2. De Sauty bridge

/< 3. Campbell bridge

/< 4. Anderson bridge (E)

Question ID : 54592776301

Q.9 Aheavily doped n-typed semiconductor has the following data:

Hole-electron mobility ratio: 0.4

Doping concentration: 4.2 x 10% atoms/m’
Intrinsic concentration: 1.5 x 107 atoms/m
The ratio of conductance of the n-type semiconductor to that of the intrinsic semiconductor of same material and at the
same temperature is given by:

Ans o f 1. 20,000
2 2. 10,000
2< 3. 2,000
# 4. 0.0005

3

Question ID : 54592776316
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Ans

Q10 The stabilty criteria for the minimum phase system is:

/< 1. phase margin should be positive and gain margin negative.
+ 2 both gain margin and phase margin should be positive
/< 3. both gain margin and phase margin should be negative

/< 4. phase margin should be negative and gain margin positive.

Question ID : 54592776305

Q11 Over single cage rotor , the advantage of the double squirrel -cage induction motor is:

Ans 5 1. power factor is higher
« 2. starting current is lower
/< 3. efficiency is higher
/< 4. slip is large
Question ID : 54592776298
Q12 The slot wedges are made of in case of dc machine
Ans

v . Silicon steel
# 2. Mild steel
#< 3. Cast iron
#< 4. Fibre

Question ID : 54592776306

Ans

Q.13 The presence of zeros in a row while forming a Routh array. indicates that the system.

« 1. has symmetrically located roots.

#< 2. is stable
7< 3. is insensitive to the variation in gain

/< 4. has asymmetrical located roots

Question ID : 54592776304

Ans

Q.14 The circuit of a Schmitt trigger is shown in the figure. The zener-diode combination maintains the output between +
7V.The width of the hysteresis band is V.

+HI5V
bul,
L S Va

&< 1. 0.701
X 2 0.697
v 5 0.666
< 4.0.795

Question ID : 54592776310

Q.15
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A 200V, DC Shunt motor is operating af a speed of 1500 rpm. The armature resistance is 0.4 and armature current is
10A. What extra resistance (in £2) to be put in circuit to maintain same speed and torque if the excitation of the machine
is reduced by 10 percentage?

Ans x 1. 30
X215
V'3 21
X423

Question ID : 54592776309

Q16 The threshold voltage v, is negative for:
Ans 1. A p-channel JFET.
« 2. An n-channel depletion MOSFET.

/< 3. An n-channel enhancement MOSFET.
/< 4. A p-channel depletion MOSFET.

Question ID : 54592776311

Q.17 "The perfect dielectric medium behaves like a perfect transmitter of EM wave". The statement is:

Ans X 1. depends upon environmental condition.

< 2 False
/< 3. can't say

\f4- Tie

Question ID : 54592776308

Q.18 For good stabilization in voltage divider bias, the current Iy flowing through Ry and R, should be equal to or greater
than:

Ans 1. 1015
K2 2Ip
<3 4lp
X4 31p

Question ID : 54592776313

Q19 The simplified form of the logic function A+BC is,
A of 1 (ATB)(ATC)

X2 ABC

X 3. AB+BC

X4 AB+AaBcC

Question ID : 54592776307

Q.20 A 500KVA, 200/100V, 1-¢ wansformer is connected as an auto transformer to supply a 200V circuit from a 300V
source. The auto transformer has the KVA rating

Ans 1,500
< 2. 1000
< 3. 2000
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v 4 1500

Question ID : 54592776303

Section : Discipline4

Q1 In a self-controlled synchronous motor fed from a variable frequency inverter:
Ans 3¢ 1. The rotor poles invariably have damper windings

« 2 The frequency of the stator decides the rotor speed

7% 3. The speed of the rotor decides stator frequency

/< 4. There are stability problems

Question ID : 54592776321

Q.2 Asingle-phase, 230V, 50 Hz AC mains fed fully controlled bridge rectifier is feeding a 200 V dc. 1500 rpm, 10 A
separately excited dc motor with ripple free continuous current under all operating conditions. The armature resistance
is | © and motor torque is 15 Nm. What will the motor speed be at a firing angle of 30° ?

Ans 1. 904 rpm
75 2. 1428.78 rpm
W 3 1318.5 rpm
75 4. 2955.54 rpm

Question ID : 54592776319

@3 The most suitable device for high frequency inversion in SMPS is:

Ans X 1. GTO
v 2. MOSFET
< 3 BIT
< 4 IGBT

Question ID : 54592776322

Q4 If a signal is folded about origin in time then its:

Ans J 1.

Phase spectrum sign changes and magnitude remains unchanged
/< 2. Magnitude spectrum undergoes change in sign
/< 3. Magnitude remains unchanged
/< 4. Phase spectrum undergoes change in sign

Question ID : 54592776333

Q.5 Aseparately excited de motor runs at 900 rpm from a 198 V dc supply. The motor is fed from a 230 V. 50 Hz single
phase fully controlled bridge converter with a firing angle of o. If the motor has te run at 500 rpm on no load, then value
of o would be:

Ans  of 1. 57.9°
X 2 62.0°
< 3. 86.4°

X4 735°
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Question ID : 54592776320

Q6 If X(z) has a single pole on the unit circle, on negative real axis then. x(n) is,

Ans X 1. Constant sequence
/< 2. Signed decaying system
/< 3. Signed growing sequence

« 4 Signed constant sequence

Question ID : 54592776336

Q.7  Athree phase converter feeds pure resistance load at a firing angle of a = 60°. The average value of current flowing in
the loads is 10 A. If a very large inductance is connected in the load circuit, then the:

Ans o 1. Average value of current will remain as 10 A

&2

Trend of variation of current cannot be predicted unless the exact value of inductance connected is known

/< 3. Average value of current will become less than 10 A.

/< 4. Average value of current will become greater than 10 A

Question ID : 54592776327

Q8 The Fourier transform of a signal h(t) is

H{jw) = M The value of r{(0) is:

Question ID : 54592776334

Q.9 Asingle phase fully controlled rectifier is supplying a load with an anti-parallel diode as shown in the figure, All
switches and diodes are ideal. Which one of the following is true for instantaneous load veltage and current?

R

f%

(5>5r]
.

Ans X1 p, <0 &iy<0
K2 v, <0&iy=0
3 v,=20&i,=0
K4 vy=0&i,<0

Question ID : 54592776328

Q.10
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A voltage commutation circuit is shown in figure. If the turn off time of the SCR’s is 50 m sec and a safety margin of 2
is considered, what will be the approximate minimum value of capacitor required for proper commutation? (voltage is
100 V)

v o88 #F

X4 o7 #F

Question ID : 54592776325

Q.11 A 100 kW, 500 V. 2000 rpm separately excited dc motor is to be controlled from 400 V, 50 Hz three phase source
through a three phase full converter. The DC motor parameters are as

rR,=020K,=16V—s/rad

Rated armature current=210 A

No load armature current = 10% of rated current

Assume armature current is continuous and ripple free. At a firing angle of 30°, the approximate no-load speed of motor will be:

Ans 4. 2245 rpm
X 2. 1122 rpm
' 3. 2760 rpm
X 4. 1831 rpm

Question ID : 54592776318

Q.12 : . ' ="
The Fourier series for the function fix) = sin’x is:

Ans  of 1. 0.5 - 0.5Cos2x
X 2 1-Cos2x
/< 3. Sinx + Cosx
X 4 Sin2x + Cos2x

Question ID : 54592776332

Q.13 Insinusoidal pulse modulation used in PWM inverter, amplitude and frequency for triangular carrier and sinusoidal
reference signals are 10 V, 2 KHz and 2 V. 100 Hz. If peak of the triangular carrier and reference sinusoidal coincide
then the modulation index and pulse width is”

Ans 1. 0.2,28.8°
X2 04,14.4°
V'3 0.2, 14.4°
X 4 04,288°

Question ID : 54592776330

Q.14 A chopper is used for on-off control of a de separately excited motor. The chopper is fed from a dc source of 230 V and
it has on time of 10 msec and off time of 15 msec. the motor constants are as following:
Armature resistance = =~ >

Voltage constant K= =05V —s/rad

Assume motor current is continuous. For a speed of 1500 rpm, the average load current will be

Ans X1 245A
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V2 45A
X3 30.7A
X 4 505A

Question ID : 54592776317

Q.15 A three-phase fully-controlled thyristor bridge converter is used as line commutated inverter to feed 50 KW power 420 V
dc to a three phase, 415 V (line), 50 Hz ac mains, consider de link current to be constant. The rms current of the
thyristor is:

Ans X1 119.05 A
V2 68.73A
<3 30.68A
X4 7937A

Question ID : 54592776331

Q.16 In the circuit shown in figure, the switch is operated at a duty cyele of 0.5. A large capacitor is connected across the
load. The inductor current is assumed to be continuous.

The average voltage across the load and the average current through the diode will respectively be:

Ans X 1. 10V,8A
X2 40V, 8A
X3 10V, 2A
4 AV, 2A

Question ID : 54592776329

Q.17 A single phase voltage source inverter is controlled in a single pulse-width modulated mode with a pulse width of 150°

Vime” + W* .
in each half cycle. Total harmonic distortion is defined as rap = @ x 100 Where Vy is the rms value of

%

the fundamental component of the output voltage. The THD of output AC voltage waveform is:

Ans X 1. 66.65%
< 2. 30.49%
< 3 48.42%
v 4 31.83%

Question ID : 54592776323

Q.18 A fully controlled natural commutated 3-phase bridge rectifier is operating with a firing angle a = 30. The peak to peak
voltage ripple expressed as a ratio of the peak output DC voltage at the output of the converter bridge is:

Ans

ra 1—?
v'2 05
X3 V3-1
X2

Question ID : 54592776324

Q.19 Consider a discrete time signal given by

x[n] = (=0.25)"u[n] + (0.5)"u[-n — 1] The region of convergence of its Z-transform would be:
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Ans  of 1.

The annular region between the two circles, both centered at origin and having radii 0.25 and 0.5
/< 2. The entire Z plane
53

The region outside the circle of radius 0.25 and centered at origin

K4

The region inside the circle of radius 0.5 and centered at origin

Question ID : 54592776335

Q.20 A half wave thyristor converter supplies a purely inductive load as shown in figure. Triggering angle of the thyristor is
120, the extinction angle will be:

Ans  of 1 940°
< 2. 200°
<3 180°
K4 120°

Question ID : 54592776326

Section : Discipline5

Q.1 sbir signed integers in 2°s complement form are read into the accunmlator of an 8085 microprocessor from an I'O port
using the following assembly langnage program segment with symbolic addresses.

BEGIN: INPORT

RAL
INC BEGIN
RAR
END: HIT
This program:

Ans o 1. Halts upon reading a negative number

/< 2. Halts upon reading a zero

75 3. Never halts

/< 4. Halts upon reading a positive number

Question ID : 54592776344

Q.2 The procedure of modifying work content to give more meaning and enjoyment to the job by invelving employees in
planning, organization and control of their work, is termed as

Ans  of 1. Job enrichment
75 2. Job evaluation
7% 3. Job enlargement

7< 4. Job rotation

Question ID : 54592776354

Q3 Given the relationship between the input »(¢) and the output y(¢) to be
£

y(t) = f (2 +t —)e~**"yu(r)dr The transfer function v(s)/u(s) is-
1]

Ans
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Question ID : 54592776341
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Q4 Based on what the Kyoto Protocol set emission reduction targets for the group of greenhouse gases?

Ane X1 Hydrogen equivalents
+ 2. Carbon dioxide equivalents
#< 3. Nitrogen equivalents
#< 4. Oxygen equivalents
Question ID : 54592776351
2% Which one of the following is an important heat trapping gas?
Ans

#< 1. Nitrogen
7% 2. Carbon monoxide
+ 3 Carbon dioxide

#< 4 Hydrogen

Question ID : 54592776349

Q6 YWhat js the vectored address of interrupt RST5?

Ans X 1. 0040H
# 2. 0008H
# 3. 0005H
v 4 0028H

Question ID : 54592776342

Q7 Specify the contents of accumulator when the following program is executed
MVIA,C4H
ORAA
RRC
RAL

RRC
Ans o 1. 62 H
X2 42H
X3 52H
7% 4. None of the given options

Question ID : 54592776345
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Q8 Maximum amount of gas found in air is:
Ans o 1. Nitrogen

/< 2. Oxygen

#< 3. Carbon dioxide

/< 4. Hydrogen

Question ID : 54592776348

! 4
as The input x(2) and y(t) of a system are related as »() = I x(t)eos(3r)dr The system is:

Ans o 1. Stable and not time invariant
#< 2. Not time invariant and stable
#< 3. Time invariant and stable
/< 4 Time invariant and not stable

Question ID : 54592776337

Q.10 The time by which the activity completion time can be delayved without affecting the start of succeeding activities, is
known as

Ans  of 1. Free float
/X< 2. Interfering float

75 3. Total float
/< 4. Duration

Question ID : 54592776355

Q.11 A linear time-invariant system with an impulse response h(t) produces output »(t) when input x(t) is applied. When
the input x(t — 1) is applied to a system with impulse response h(t — 7). the output will be:

Ans X1 y{2(t — )}

W2 y(t—-21)
X3 y(t—-1
X 4 y(D)

[ Question ID : 54592776339 ]

az Why hydro-fluorocarbons are no harm to the ozone layer?

Ans - .
"® ¥ 1. Because they contain nitrogen

v 2. Because they do not contain chlorine
#< 3. Because they contain carbon

#< 4. Because they contain chlorine

Question ID : 54592776353

Q13 1n 8085 microprocessor unit scratch pad memory comprises of:
Ans X' 1. W, Z,B. C, D, E, Hand L registers
+ 2. B.C.D, E, HAND L registers
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/< 3 W, Z, B, C, Dand E registers
X 4 W,Z,B,C,D,E, H, L and status registers

Question ID : 54592776346

A4 . .
" How food production reduced due to climate change?

Ans X 1. Due to reduction in pollution
#< 2. Due to application of organic manures
#< 3. Due to modern technologies

v 4 Due to increase in pests

Question ID : 54592776350

Q15 A gystem with input x(t) and output y(t) is defined by the input-output relationship
¥(t) = J- x(t)dr The system will be :

Ans X 1. Causal, time-invarient and unstable

/< 2. Causal, time-invarient and stable
/< 3. Non-causal, time-invarient and unstable

v Non-causal, time-variant and unstable

Question ID : 54592776340

Q16 For what production and consumption phase out schedules the Montreal Protocol has established?

Ans X 1. Global warming emitting gases

v 2. Ozone layer depleting substances
#< 3. Greenhouse emitting gases

7< 4 Water level increasing substances

Question ID : 54592776352

Q17 yyildlife Week is celebrated on

Ans 1. 15th October to 2 1st October
2< 2. 1st June to 7th Tune
#< 3. 15th Tune to 21st Tune
v 4 1st October to 7th October

Question ID : 54592776347

Q.18 Ina 8085 microprocessor the value of the stack pointer (SP) is 2010 H and that of DE register pair is 1234 H before the
following code is executed. The value of the DE register pair after the following code is exacuted is:
LXI H, 0000H

PUSHH
PUSHH
FOPB
DAD SP
XCHG

Ans X1 1232 H
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v 2. 200 EH
/< 3. 200 CH
X 4 2010H

Question ID : 54592776343

Ans

Q19 wwhich Amendment was agreed to phase down HFCs under the Montreal Protocol?

/< 1. Delhi Amendment
75 2. Paris Amendment
75 3. New York Amendment

v 4 Kigali Amendment

Question ID : 54592776356

Ans

Q20 7o y(p) = rect(t — %} {where, rect(x)= 1 for —% < x < 1 and zero otherwise}

2

Then, if sinc(x) = % the Fourier transform of x(t) + x(—¢) will be given by:

W 1. 2Sine (;T)cos(f}
X 2. 2 Sinc (;—H)

X 3. Sine (:—ﬂ)
75 4. Sinc (:J—H) cos(;)

-

Question ID : 54592776338
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